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6
A. Write the correct numbers in the
	 boxes to complete the number
	 bonds.

2

1

2
3

4

5
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10
B.	 Add and circle the correct answer.

2 + 2 = 3 / 4

3 + 2 = 5 / 6

3 + 1 = 2 / 4

1 + 2 = 3 / 1

4 + 2 = 6 / 7
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10
C. Cross out (2) and subtract.
	 Write the correct answer.

2   −   1   = 

4   −   2   = 

3   −   1   = 

5   −   4   = 

4   −   3   = 
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10
D. Count. Then, colour the correct
 	 answer.

15 17

18 20

11 15

20 19

14 12
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4
E. Fill in the missing numbers.

2
F. What number comes next? Write.

2
G. What number comes before the
	 given number? Write.

11

19

14

19 13

17

18 16

13 15
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12
H. Add and write the answer.

4 + 2 = 2 + 5 =

6 + 3 = 3 + 4 =

5 + 1 = 5 + 3 =
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. Cross out (2) and subtract.
  Then, write the answers. 12

10 − 4 =8 − 5 =

9 − 8 =7 − 3 =

7 − 6 =6 − 1 =
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. Do the sums. Colour the bags
	 that have the same answer. 12

3
3+

5
2+

6
4+

9
6−

8
2−

7
1−
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8
K. Look at the pictures.
	 Underline the correct answers.

The ball is
( on / under ) the
table.

The pillow is
( on / under )
the chair.

The book is
( inside / outside )
the bag.

Alex is
( in front of / behind )
Alice.

AlexAlice
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12
L. Match correctly.

cube

cone

cylinder

sphere

cuboid

pyramid
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